Module 6 - Polynomial Equations Progress Exam 2

26. Which of the following equations could be of the graph presented below?
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27. Choose the end behavior of the polynomial below.
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%E‘,\ZOB" 28. Describe the zero behavior of the zero —6 of the polynomial below.
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29. Construct the lowest-degree polynomial given the zeros below. Then, choose the intervals that contain

the coefficients of the polynomial in the form az® + bz? + cx + d.
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30. Construct the lowest-degree polynomial given the zeros below. Then, choose the intervals that contain

the coefficients of the polynomial in the form 3 + bz 4 cx + d.
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